ACCOUNTING AND FINANCE
Second Paper (Financial Accounting and Decision Making)

Time allowed: Three hours MaximumMakes: 100
N - Part-A( {T-31) |
1. (@ Give two problems of department accounts.
| it @l <t I FaEd |
() Explain the main objects of keeping branch account.
T G @ 3 Sevdl Sl e i | L)
'(© What is meant by containers of Packages?’
FeeTd Sredl Thee | T 3T &2

(@ Whatis the rate of service tax al present ?
FATEF YA YEF R RPN
€ Whatis ‘Average Clause’? AeaaT =R ?
@ Give any two limitations of Marginal Costing System.
o o fafa FHE o dEd TRl
@ What is angle of inicidence? =T IV T BIAl z?
(h) What is meantby Flexible budget’ ?
et e/ T AIRE © ?
'@ Giveworeasons for ‘Labour Price Variance’.
¢ e forewor’ 3 Q) FRO TWEA | \
G) . Whatis meantby Cost Centre? TNTd & § 1 WHE § ?
| Part-B ( ¥FT-7) o
2. Give necessary journal entries for reconciling the following balance
of Head Office and Branch: -
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In the books of H.O. In the books of Branch

Dr. Cr. Dr. Cr.
Current Account 7,500 - - 6,150
Goods sent /received . ’
by Branch - 11,250 10,500 -

Hmm@ﬁﬁm@a%ﬁmﬁfﬁaﬂﬁmmﬂmﬁ#fm
AT A wfarea dfa: |
© UM EREAd &l 9 g @t gedht o

~Ic] @Ml 7,500 - - 6,150
TG g AT WS / - 11,250 10,500 =
< fera
A stock of the value of Rs. 40,000 has been insured for Rs. 30,000.
There is loss of the stock by fire which has been estimated at Rs.
25,000. What is the amount of insurance claim? :
25,000 T. 3 HI % i 1 ST 30,000 . % T Hran 7| fAw
TR Y T A T e 25,000 T R S foRe T
@ H NI ? | ~ .
IF BEP sales is 60% of current sales and profitis Rs. 4,000 then what
is. contribution ? A TH-fo=8T fag fora TR F 60% Tasha
g1 T T T & SR T 4,000F. A ENHEEIRUNE T Rl
. Explain the treatment of voyage which is not completed on the date
of preparation of final accounts. st @) o i fafa =
ﬁma@%mmwwaﬁm@m
Narrate the advantages of\Res nsibility Accounting. S
ITIE AGihT % o JaRd | '

N\ _Part-C ( ¥PT-H)

/) UnitIGEE-D - |
" . Ram Brothers.have three departments. The purchase and sales date
for the'year,ended 31st March, 2013 are given below: :

\ o Deptt. A

Deptt. B, Deptt.C
..+ Units Units Units
Putchases Rs, 1,00,000 1,000 2,000 2,400
“‘Opening Stock 120 80 152
Sales 1,020 1,920 2456
Selling Price Per unit Rs. 20 Rs. 22.50 Rs. 25

Prepare departmental trading account for the year ended 31 st March,
5013 assuming that the rate of gross profit is the same In each case.

@ 9l & A TR, 31 7 2013 S TG B At 98 § T

- o W e 8 |
' faumrA - fawmTB favmr C
FhEA IFEA TR
%9 %. 1,00,000 1,000 2,000 2,400
yrfisys ©Hh 120 80 152
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fesra - 1,020 1,920 2,456
ﬁm‘@ﬁﬁfﬁﬁ %. 20 %.2250 ° %25
Hehe! AN Tt T TIH AMAA Y 31 A, 2013 H TAG €11 It 6
T SR S daR S |

Or
How are the items in foreign branch Trial Balance converted in Head

Office books for the ose of their mcorporatlon in Lhc books of
the Head Office. R

Ww%mﬁﬁﬂmmﬁgmﬁﬁfmm
Raftia <& gemfea frar s g ?

UnitH(FFE-) -
The following particulars are obtained fromthe records of a tactory of
ProduclAandB

ProductA ProductB

' (Per Unit) (Per Unit)
Selling Price 100 "% 200
Material cost @ Rs. 10 per Kg. 20 T 50
Wages @ Rs. 3 per hour : 30 .= 60
Variable overheads @ Rs. 10 perhour ~10: :, - ;- 20

Total fixed costs of the factory are Rs; 500
State, under each of the followingsitdations which product is better

to be produced and sold and whg

® If total sales in umits is key factor,

(i) If total sales.ifnvalue is key factor.

(iii) If raw material s in short supply.

(v) If 1abour’hours are the limiting factor.

W) If availableraw material is 2,000 kg and maximum pos-

sible'sales of each product is 500 units.
ww Y] A eiferal /, AR A AR B %ﬁﬂmﬂmgﬁ%

AR 39K B
(srﬁrm%) (wfe 7o)
ﬁﬁq:@ : 100 200 -
MU AFE 10 %. sfafem 20 - 50
Wil 3 % Wid w0 30 60
YfEdeid SUREa W10 %. ﬁm 10 20

et 1 Pl R A <. 50081

mﬁﬁqm@ﬁu@?qﬁmﬁnﬁw-mmﬁa@ﬁmmm |

YR B S

@) ‘Tﬁﬁﬁmsmammi‘n

(i) ofz fags ofa . Had FRFH T |

(iii) uﬁg&?ﬂ%m:ﬁ frml%a% a”rﬁam%n |

i a9 FH T |

2,‘;) qﬁmaﬁwmmzowwmmmﬁ
mmmqmwﬁaﬁmqsoosaﬂsm% |
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—
What is consequential loss policy? What factors do influences the
ascertainment of claimunder this policy?

afomt wifT e R 2 5 it & ofavia < i At FuiRE S
Y HF-Y ¥ Jifad 319 § 2
- Unit-TIL (351 - |
From the following data calulate fixe overhead variances:
Budget  Actual

No. of working days 20 25
Standard man-hour per day 8,000 7,500
Output per man-hour 1.0 12
Output in units 1,60,000 2,25,000
Hourly rate per man-hour s 0,10 0.15
e ool ¥ feer Sufteag Tl =t 77O whifeTe -
.. T feadi <t 9&n ' 20 25 -

ifa. feeg yamg A e =ee 8,000 7,500

. 3T Ufa "I 1.0 1.2
I SHEI B - 1,60,000  2,25,000

- 39T S rufa A 9T 0.10 0.15

Or

What is, Zero Base Budgeting ? Discuss its characteristics and
\differentiate zero base budgeting and trading budgeting.

YA YR 991 F1 ¥ 2 SUH Y E FoRmane saigd 99 Y 3R
TS TE OO ool | A 9argd | '
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